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QUESTION 1

Which two parameters are mandatory when running "ifxclone"? (Choose two.) 

A. Target server instance size. 

B. Target server instance name. 

C. Source server instance sqlhosts. 

D. Target server configuration parameters. 

E. Source server instance TCP/IP address. 

Correct Answer: BE 

 

QUESTION 2

During the database server initialization process, a number of environment variables are required. What is the order of
precedence if the -file option is used? 

A. User local shell, system global 

B. System global, user local shell 

C. System global, user local shell, onconfig file 

D. Onconfig file, user local shell, system global 

Correct Answer: D 

 

QUESTION 3

Which is NOT a valid index fragmentation strategy? 

A. Fragment by Range 

B. Partition by Expression 

C. Fragment by Expression 

D. Fragment by Round Robin 

Correct Answer: D 

 

QUESTION 4

The DBA has defined the following configuration parameters in the onconfig file: 
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What are the actual values for LMM START THRESHOLD and LMM STOP THRESHOLD computed internally by the
database server? 

A. LMM START THRESHOLD = 2MB and LMM STOP THRESHOLD = 3MB 

B. LMM START THRESHOLD = 20MB and LMM STOP THRESHOLD = 30MB 

C. LMM START THRESHOLD = 500MB and LMM STOP THRESHOLD = 333MB 

D. LMM START THRESHOLD = 2% and LMM STOP THRESHOLD = 3% of physical memory in the system 

Correct Answer: B 

 

QUESTION 5

Which Enterprise Replication command CANNOT be used on replicates that include TimeSeries columns? 

A. cdr start 

B. cdr sync 

C. cdr realize 

D. cdr remaster 

Correct Answer: D 
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